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@1 #include <bits/stdc++.h>
02 using namespace std;
23

04 using 164 = long long;
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05

06 int popcount(if4 x)
07 {

28 int res = 0;

09 while(x)

10 {

11 if(x & 1 == 1)
12 res++;

13 X >>= 1;

14 }

15 return res;

16 }

17

18 int calc(i64 x)

19 {

20 int sum = 0;

21 for(i64 i = 1; i <= x; i++)

22 sum += popcount(i);

23 return sum;

24}

25

26 int sum(i64 1, i64 r)

27 {

28 return cale(r) - cale(l);

29 }

30

31 int main()

32 {

33 i64 1, r;

34 cin >> 1 >> r;

35 cout << cale(l) << ' ' << sum(l, r) << endl;

36 return 0;

37 }

by
. ERFHANS 8, WEFHE 7 6. ( )
. B 1 RS EECHAMRS, BFRHER—EASHE. ( )

. EMirfsinclude <bits/stde++. h>BUf#include <stdio.h>, FFIREE
HiafT, ( )



4  BEFRRE CSPBAZB—CSP-U/S F—iBAl & JLEMAEL (2025)
B EERE
19. FHAAL 12, MEHEA47 ( )

Al 21 B.1 20 C.122 D.2 22
20. B sum REEIEL T HaThRg? ( )

A HET, rIKEIREEMCHERIGE 1 82 m

B. WETI, rlXENGEMCHERHR L 0 g9 825

C. WETQ, rlXEHNSEM I - 1 0

D. WHT (U, rIREASE M HRLL 0 M
(2)

@1 #include <bits/stdc++.h>

02 using namespace std;

03

04 const int inf = Ox3f3f3f3f;

25

06 int solve(vector<int> &cur)

07 {

08 int n = cur.size();

09 vector<vector<int>> dp(n + 1, vector<int>(n + 1, inf));

10 for(int i = @; i <= n; i++)

11 dple][i] = dpli]l[e] = o;

12 for(int 1 = 1; i <= n; i++)

13 dp[i][i] = cur[i - 1];

14 for(int i = 1; i <= n; i++)

15 for(int j = 1; j <= n; j++)

16 if(i 1= j§)

17 dp[i1[jl=min(dp[i1[3],dp[i-11[3]+dp[il[j-11);

18 int ans = 0;

19 for(int i = 1; i <= n; i++)

20 ans = max(ans, dp[n][i])

21 return ans;

22 }

23

24 int main()

25 {

26 int n;

27 cin >> n;
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28 vector<int> cost(n);

29 for(int i = @; i < n; i++)
30 cin >> cost[il;

31 cout << solve(cost) << endl;
32 return 0;

33 }
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22, FHE dp BRI RIE 2R 0. «C )

23, (243) EH5 28 F7Ch vector<int> cost(n+1), M2 A 312 3Rf, solve
PR n=3, ( )

B AR
24. SHEAK) cost B N{4,0,0,5,6}0, BFMHEAE ()
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(3)
01 #include <bits/stdc++.h>
02 using namespace std;

03

04 int func(int a, int b)
05 {

06 if(a == @)

7 return b;

08 if(b == 0)

09 return a;

10 return a + func(b, a % b);
11 }
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12

13 int main()

14 {

15 int x, vy;

16 cin >> x >> vy;

17 cout << func(x, y) << endl;

18 return 0;

19 }
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B. func(3,5)-func(5,3)-func(3,2)-func(2,1)-func(1,1)-func(1,0)

C. func(3,5)-func(5,2)-func(2,1)-func(1,1)-func(1,0)

D. func(3,5)-func(5,2)-func(2,1)-func(1,0)

(44) ZH5E 10 FTHREZECH return a + func(b,a-b), MIZKIAD 3 50,
BRI LR ( do

A. 14 B.8

C.6 D. FEARE XATH, SRR

« RERERF (RERE, 5034, #3045

(1) BEHER:

BB — B colors FI—PEE k, HF colors #R— " HAGERMER



£ % 48 CSP-J 2025 A1 RAEM A 1 7

BREABIE, 5 1 ERIEIER colors[1] (1RFBLA, o RFHEE ), kst
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01 #tinclude <iostream>
02 #include <®D>

03

@4 using namespace std;

05

06 int main()

07 {

08 int n, k;

09 cin >> n >> k;

10 vector<int> colors(n);

11 for(int i = @; i < n; i++)
12 cin >> colors[il;

13 int ans = 0, cnt = @;
14 for(int i = 0; 1 < @; i++)

15 {

16 if(i > 0 66 @)

17 cnt = 0;

18 cnt++;

19 ans += (® &8 cnt >= k);
20 }

21 cout << ans << endl;

22 return 0;

23 }

33. (DALRE ( )e
A.vector B. set C.string D. map
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A -1 B. 0 C.1 D.2

35. DALRIE ( b
A.n B.n-1 C.2*n D.2x(n-1)
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36. DIERE (),

A.colors[i] == colors[i-1]

B.colors[i] != colors[i-1]
C.colors[i % n] == colors[(i-1) % n]

D.colors[i % n] != colors[(i-1) % n]
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01
02
03
04
05
06
07

08
09

#include <iostream>
#include <vector>

using namespace std;
const int mod = 1E9 + 7;
vector<vector<int>> pos = {{4, 6}, {6, 8}, {7, 9}, {4, 8}, {0, 3, 9},

®, {o, 1, 7}, {2, 6}, {1, 3}, {2, 41}

int main()
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38.

39.

40.

10 {
11
12
i3
14
15
16
17
18
19

20

21
22
23
24
25
26
27
28
29
30
31
32
33
34
35 }

int n;

cin >> n;

vector<vector<int>> dp(10, vector<int>(n + 1, 0));
for(int i = @; 1 < 10; i++)

@ =1;
for(int j = 2; j <= n; j++)
{
for(int 1 = 0; i < 10; i++)
{
for(int k = @; k < pos[i].size(); k++)
{
dp[il[3] += dp[®I[F - 1];
@;
}
}
}

int ans = 0;
for(int 1 = 0; i < 10; i++)
{
®;
ans %= mod;
}
cout << ans << endl;
return 0;

OALRIE ( )o
A. {1, 3, 7, 9} B. {x, #}
C.{2, 8, o} D. {}

QbR ( o

A.dp[il[1] B.dp[1][i]
C.dpl[i][e] D.dp[0o][i]
GubpiIE ( Do

Ak B.pos[k][i]

C.pos[il[k] D. pos[i-1][k]
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41. @IERIE ( do
A.dp[il[k] %= mod
C.dp[i][j] %= mod

42. ®ERIE ( Je
A.ans += dp[il[n]
C.ans += dp[n][il

B.dp[j1[i] -= mod
D.dp[1][j] -= mod

B.ans += dp[i]lln-1]
D.ans += dp[n-1]1[i]



